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CRITERIA (Futuristic Needs) FOR WORLD CALENDAR

    
As Calendar people compile prolifically the Calendar Bible instead of reforming of the Gregorian calendar (that is more important work).  I offer to introduce into the Calendar Bible some among obligatory Commandments for the World Calendar. The World Calendar:

1. Must be useful for all people of the Earth, uniting them.

2. Must reflect the visible periodical movements of the heavenly bodies: the Earth, the Moon, the Sun

3. Must be solar, lunar, and earthly.

4. Must not abolish the former, existing and future calendars (local, national and etc.)  -  must not set on

      of people of the Earth by face to face.

5. Must keep a simple transitional table between the calendars. 

6. Must not abolish the existing religions.

7. Must be simple, intelligible, easily remembered calendar.


      8.
Must exist or capable of existing for a long time.

ONE such Format of World Decimal Calendar that I propose show promising results.


‘A World Calendar using 834-year/148 Leap Weeks cycle’ introducing a Leap Week Rule (on 

divide by six(6) basis; and to make it luniSolar by introducing *Tithi ratio 966/965 for a Tithi/Phase 

and T-Unit (Week/965) as its moderator; give Mean Year = [7*(52+148/834)] =365.242206235012 days

and Mean Lunation (304612 days/10315 Lunations) = 29.5309743093 days.

100 Decimal Seconds (sd)   = 1 Decimal Minute (md); 100 Decimal Minutes (md)  = 1 HOUR  of (duration same as of present HOUR); and 24 HOURS  = 1 Day

Thus, the 24-hour clock-face remain unchanged; but the second is ‘shortened’ to decimal second (sd) as: 1/240000th of the day duration or 36% of SI-atomic second;  or 1/87658125.52075th of the modern astronomer’s mean tropical year measured at the epoch, basis VSOP82, AD 2000.00. 

7-day ‘sabbath cycle or Week’ is maintained with Week days *00/07 (Sunday); 01 (Monday) thro 06 (Saturday). VGRCalendar format is made up by shifting a day from the month of JULY and making it of 30 days (instead of 31 days) to the month of February and making ALL February months of 29 days (instead of 28 days). This, makes the format of NORMAL years to have 364-days (52-weeks), in FOUR equal Quarters of 13-weeks or 91 days each.. BUT years divisible by six (6) to have an Added Leap Week of the year XXXX as 53rd week; but placed outside of the month December, make the year of 371 days. Apart, Several schemes worked for 364-day plan, using solar, sidereal or metric/ decimal divisions of the HOUR linking arc-angle are demonstrated between 1970-1994.

In addition to 139 Leap weeks on division by SIX (6) when the year is considered to have an ADDED leap week of the Year XXXX only NINE additional ‘leap weeks’ are required during years 87th, (90th,96th), (90th,96th), (90th,96th), (90th,96th) i.e. the first one during 87th year since 834th year itself happen to be divisible by six(6) from the year of its introduction. It is easy to remember the number of days in each month from the following: 

Tees Din July, September:


   Thirty days in July, September: 

April, June, November, December;

   April, June, November, December;
Baqi Sab ke Ek-Aur Tees:

           
   All the rest have thirty-one; accepting February alone:
Sirf February ke Ek-kum Tees;


   Which hath but twenty-nine, to be (in) fine;
Chhaya(6) Saal bad, jab Leap ka Saal Aveye:
   Till leap year gives the whole week READY:
Us mein Poora EK SAPTAH aur Badhaveye.
    Is it not time to MODIFY or change to make it 








     



          perennial, Oh Daddy!

           



               And make the calendar work with Leap Week Rule!

For Details of Luni Solar Calculations and Astronomical Data please visit:



http://www.the-light.com/cal/bbv_index.html or assess from



http://www.the-light.com/cal/  and scroll down to view ‘files under bbv_…..>’ 

PRECESSION of Equinoxes: Since the center of Sun does not always cross the equator at the same equinoctial point, each year the Sun crosses the equator about 50-seconds (Y2000=0.013966486() of arc-angle, west of the point where it crossed the year before – or 1° in 71.59997153 years. If Sun and Moon were the only influences on earth’s precession: the vernal equinox would move 50”. 27935 + 0.000229 T per year, where T is number of years after AD 2000 of arc. But, other planets also exert a pull that cause an eastward movement of 0.1”/year – called planetary precession. This means that it will take25775y 361d 11h.97585916 for the precession of equinoxes to take one full circle, at current rate of precession.

Length Unit (Metre New (m’): The 360-degree (o) to a circle and 90o to the ‘quadrant’ are retained. Like ‘hours and minutes’ on the clock face; each degree (in angle) has 100 decimal minutes (and each decimal minute has 100 decimal seconds) unlike the present 1o x60' x60". The Nautical Kilometre (decimal) works to:             

1 n Km’ =1.11194886884 Km.

Using the known value for the ‘velocity of light’, mean distance of Earth from the Sun is 1.3445587453 x 108 Km’. Since‘1/100TH of one degree’ is to be the Nautical Kilometre; length distance METRE can be seen as 1/100000th of the degree or 1/10^5th of arc-angle ONE degree; and the distance METRE, after correction, can be defined as:            

‘Metre (m') is the distance traversed by light, in vacuum, during the time interval, 1/97059575.22TH of the decimal second’.






